BESARER KHT D) —REHFT - BERY 2

AH (= ST B (= ek ) B ESRE) A B C D
8A1H H BF FHIHD Fik 9:00Tr 9:00Tr RE=E B = AE
8H2H X A B FRHID F1 9:00Tr B =AE RE=RIE FH=AE
8H3H 7K BRIRZE FHID F 9:00Tr B =IE REZ=E 10:30Tr

A FHEEG 15:00 (13:45%%) AL VSEHHEE 2 Py N
8R4H 0 D #FAXH 9:00 (7:45%E4& MEEE REEIE T T AT 4 N)L
8HLH Gl D [MEEEIL D 9:00LEF A =IE A =RIE OFF T T AT AN
8H6H + Wb 1H iy=yeX(ls OFF OFF 9:00Tr
W & % 1Hd P OFF 9:00Tr 11:00Tr
8HTH H D SEn MERIE T5-00TM
8H8H H /N 1 HOr¥H A =IE 10:30Tr 9:00Tr OFF
8HI9H X X iy=ypeX(ls TM¥E TrFE OFF
8A10H 7K BRI 1 BOr¥H FIB=AE 9:00TriL 5 &k 9:00Tril B &% OFF
8H11H PN OFF OFF OFF OFF
8H12H % OFF OFF OFF OFF
8H13H + OFF OFF OFF OFF
8H14H H OFF OFF OFF OFF
8H15H A BRZ 1H 9:00Tr 11:00Tr 13:00Tr 15:00Tr
8H16H X /N 1H 9:00Tr 11:00Tr 13:00Tr 15:00Tr
8A17H 7K BIRL 1 BHOr¥H —ERIE —ERIE TM#NITZ 10:00 11:00Tr
8H18H | K R 1 HOr¥H —ERIE = E=fE AEFE (BW) 9:00Tr
8H19H | & Rt 1 HOr¥H = EiRfiE = &R ABEFE (BRW) 9:00Tr
8H20H | + B 1H OFF 9:00Tr aETE (BW) 11:00Tr
8H?21H H /N 1H OFF OFF OFF 9:00Tr
&b % 1H 9:00Tr 11:00Tr 13:00Tr 15:00Tr
8228 | A D *= SaCarsm
8H23H X BF 1H 9:00Tr 11:00Tr 13:00Tr TMZREBA KT
88 24H 7K BIR+ 1H 9:00Tr 11:00Tr 13:00Tr TMEZERH%
8H25H P/ LA 1H 9:00Tr 11:00Tr 13:00Tr 15:00Tr
8E 260 4 BIRL 1Hd 9:00Tr 11:00Tr 11:00Tr
D IhenG 14:00 (12:3054) FaER3EBL/NE2ND
8A 276 n HG RIE AL VSHEIZ#T 8:00Tr 8:00Tr
CRHEG 10:00 (8:30&+& FEp2ER RH
HG 9:00Tr Tr¥%E
873288 B =hohG FAERLED St
8H29H H OFF OFF OFF OFF
8A30H X HG HIZ T Tr Tr Tr Tr




| 88318 | & |

HG

HERTE

Tr

Tr

Tr

Tr




